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O AH 324,512 A
O 137,034
O —HEY7=0 D A 2.37 A
O M Z A& 71,438 t (32K, ERIEMER)
O 1A1LHBEYOHEHE 603 ¢
AE
O FEHMEIZ L D ZHEL10%HIE S5 S IRE
603 x 09 = 543 ¢
@ 1 A—FEMDZHPEH & 543 365 = 198 ke
@ —tHEY Y O/ A & 2.37 x 198 = 469 kg
F—X1 (LLEHE)
[LthEE 0. 224) 469 - 0224 = 2,095 L
CER2 14 FERR A R AT RS S ClE b IR0, 112 THh o 7=
23, AEHMEIC X0 [EHE LISEED T 5 & UE)
ISR R 104 &35 & —RlIH T 2,095 =+ 104 = 20 L
20LDOE A U735 DA A4 %E 20 x 104 = 2,080 M
© — HaMH 2,080 + 12 = 173 A
O 4EMFHEHA 2,080 x 137,034 = 285,030,720 H
r—X2 (RWEEGEEHE)
(—HEL -V O S HRIER IR IKEHT AL LT 5)
AR RS A 137,034 x 104 = 14,251,536 #%
[KERILAETERMEEZERLTWARBEREEDBAADRIE L FR]
O 10L&« - 24% 14,251,536 x 024 = 3,420,369
O 2048+ +28.5% 14,251,536 x 0285 = 4,061,688 K¢
O 30L&+ +25.5% 14,251,536 x 0255 = 3,634,142 ¥
O 45148+ « + 2 2% 14,251,536 x 022 = 3,135,338 #
© FHEHIA  10L4% 3,420,369 x 10 = 34,203,690 M
20143 4,061,688 x 20 = 81,233,760 M
30148 3,634,142 x 30 = 109,024,260 M
45143 3,135,338 x 45 = 141,090,210 M
O M FHEHA 365,551,920 H




